
Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  10/10/2013 8:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010757 1 555556 Orbital sander WFO 280 230V   RUS 10.10.2013 USD / 27480 / * / B 1/5
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

1 325150 1 PC Motor housing assy

2 325151 1 PC Housing end cap

3 75554 1 PC Supply cord EUR

4 72417 2 PC Conductor end sleeve

5 240431 1 PC Protective sleeve

6 75094 1 PC Clamp

7 325574 6 PC Torx-soc re scr 4X18

8 325152 1 PC Electronics 220-240V

9 325575 2 PC Choke coil

10 325153 2 PC Brush holder

12 325154 2 PC Carbon brush 100-240V

13 325155 1 PC Switch 100-240V

14 325156 1 PC Capacitor

15 325157 1 PC Flexible conductor 85MM

16 325158 1 PC Stator 220-240V assy

17 325159 1 PC Rotor 220-240V assy

18 325198 1 PC Grooved ball bearing 7X19X6-2RS607-2RS

19 325160 1 PC Air deflector

20 46957 1 PC Square nut M66-A2A

21 315677 1 PC Auxiliary grip W-AF ZH

22 51585 1 PC Hex skt hd cap screw M6X168.8 - A2K

23 66291 1 PC Washer 6.4140 HV - A2K

25 325161 1 PC Slider



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  10/10/2013 8:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010757 1 555556 Orbital sander WFO 280 230V   RUS 10.10.2013 USD / 27480 / * / B 2/5
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

28 325162 2 PC Flexible conductor 112MM

30 325164 1 PC Extraction cover

31 325165 2 PC Ball bearing 6002 spec.

37 325166 1 PC Ball bearing 6002 spec.

38 325167 1 PC Cooling fan 2

39 325168 1 PC Air deflector

40 325169 1 PC Freeze head

41 325530 7 PC Screw M4X16 SPERRVERZ

43 331702 1 PC Sanding plate W-AFO PV

45 2010722 1 PC Rating plate WFO 280 230V

51 331703 2 PC Hanger clamping W-AFO C

52 325576 8 PC Screw M5X12 SPERRVERZ

53 315679 1 PC Extraction adapter W-AF AA

54 325173 1 PC Bearing cover

55 325174 1 PC Clamping band assy

56 222059 1 PC Sl cheese head screw M3X148.8 - A2K

57 325175 1 PC Oscillating plate 2

58 325176 1 PC Counter balance

59 325177 1 PC Dust shield

60 325178 1 PC Cooling fan 1

61 325179 1 PC Lubricant baffle

62 71468 1 PC Circlip 32X1.2FED-ST - PHOSPHAT. UND
GEÖLT

63 221528 1 PC Hex skt csk hd scr M6X1210.9 - A2



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  10/10/2013 8:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010757 1 555556 Orbital sander WFO 280 230V   RUS 10.10.2013 USD / 27480 / * / B 3/5
  

 

 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  10/10/2013 8:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010757 1 555556 Orbital sander WFO 280 230V   RUS 10.10.2013 USD / 27480 / * / B 4/5
  

 

 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  10/10/2013 8:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010757 1 555556 Orbital sander WFO 280 230V   RUS 10.10.2013 USD / 27480 / * / B 5/5
  

 

 


